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#include <iostream:

using namespace std;

int main()

cout << "Fitm A

int number;

cin >> number;

for (int a

for (int
cout
for (int
cout

l3a <= numberja++) { —

b = number;b »>= aj3;b--)
{{ "» II5
€ = 1jc <= 2%a-1jc++)
<< il*dli

cout << endl;
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nclude<iostream>
nclude<cmath>
ing namespace std;

L main()

double a = 1;

double apple = 1.3* sgrt(a);
double small = 0.05;
for (double y = apple; y >= -apple; y -= small)
{
for (double x = -apple; x <= apple; x += 0.5% small)
{
double heart = pow((pow(x, 2) + pow(y, 2) - a), 3) - pow(x, 2) * pow(y, 3);
if (heart < 0)
{

'

gout =g MY
!

else cout << "

i,
i

]

cout << endl;
}

cin. get();
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int main()
{

"

cout << "===m=smmemommes =T ====" «< endlj

cout << "FFERMINN: ﬁ/Ki"leOﬂ'?ﬁﬁ,hﬁ KA << endl;
Vi i ._.".- -m;:_ £
int z = rand() ¥ 100 + 1;

i’
/77 F

webb:
cin >> num;

if (num > z && n <5) {
cout << "AAT" << endl;
n++;

goto webb;

¥

else if (num < z & n < 5) {
cout << "ANT" << endl;
n++j

goto webb;

}
else if (num = z && n <= 5) {

cout << "FHEAH" <« endl;
return 8;

}
else cout << "HFERES " << endl;
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